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BFEM ACD and XGT PHAs
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PHA for Tile 000 Mean = 274.9 PHA for Tile 001 Mean = 263 PHA for Tile 010 Mean = 236.6 PHA for Tile 011 Mean = 256
g RMS = 200.4' a RMS = 183 I 4 SF RMS = 178.2I 4 LF RMS = 193.2'
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PHA for Tile 100 Mean = 299.1 PHA for Tile 110 Mean = 262.6 PHA for Tile 200 Mean = 285 PHA for Tile 210 Mean = 310.9
3 RMS = 297 I q RMS = 229.2' a LF RMS = 248.8' q4 LF RMS = 319.7'
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PHA for Tile 300 Mean = 269.5 PHA for Tile 310 Mean = 230.3 PHA for Tile 400 Mean = 256.8 PHA for Tile 410 Mean = 245
s RMS = 236.8' q RMS = 170.4' a LF RMS = 255.6' a JF RMS = 168 I
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PHA for Tile 1000 Mean = 360.6 PHA for XGT 000 Mean = 182.6 PHA for XGT 001 Mean = 201.5 PHA for XGT 002
RMS = 266.9 I 4 RMS = 5.856' 4 LF RMS = 6.105' 4 LF RMS = 0.4599
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PHA for XGT 003 Mean = 189 PHA for Dead Mean = 260.2 PHA for Spare 1 PHA for Spare 2 Mean = 198.7
. RMS = 8.172 I 4 RMS = 8.375' 4 LF Rvs =0s84430 4 L F RMS = 1.654'
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PHA for Cable5 PMTO gmean = 0 PHA for Cable5 PMT1 gvean = 0 PHA for Cable5 PMT2 gMean = 0 PHA for Cable5 PMT3g[Mean = 0
s RMS = 0 I a | RMS = 0 I a . RMS = 0 I q RMS = 0 I
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